



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^0 + \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{5} =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{1}{4}\right) = \frac{17}{64}$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{123}{320}\right)$$

$$\left(\frac{3}{5}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{6}\right) = \frac{29}{192}$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{6} = \frac{29}{150}$$

$$\left(-\frac{3}{4}\right) + \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{2}{5} = \left(-\frac{13}{45}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{3} = \left(-\frac{11}{24}\right)$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{2}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} = \frac{25}{54}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{91}{100}$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{23}{125}\right)$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{5} = \frac{61}{80}$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{10}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{2} = \frac{43}{50}$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{5} = \left(-\frac{19}{40}\right)$$